Autumn Test 5

1 = 4 of 8 2| 17X1=

3 ~3=6 4 | 361 + 254 =

7 4 _
S 0170 = (3 =26 X0

7 | 731 —325= 86190

424
1 X 3 12| 702 — 344 =
6320
13| 1+-10= 14 +19093
_ 4 10
15 = 6’ 16 W+_1_
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Autumn Test 5 (continued)

17 | 5X17 X 4= 18 | 62 - 100 =

7428
19 — 272848 20| 74 X 100 =
21| 4 X =92 22| 2828 = — 4213
4000
23| 85+ 10 = 29 — 1321

25 — 735 = 1000 [Total marks /25)

How well did you do? — with zeros 12 | 24

Colour the numbers of the questions Multiples of fables 20

you gof correct. Square numbers 9 115
<+ or x by 10, 100 or 1000 13 118 | 20 | 23 | 25
Short x N
Short + 21

Fractions

8
1
Missing numbers 3110 | 21| 22
+ 4 (14 )76 | 22
5
2
1
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